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Order and Ranking 

Directions (1-2): Read the given information carefully 

and answer the given questions. 

There are six boxes U, V, W, X, Y and Z in a room, each 

having a different number of toffees. X has more toffees 

than only 2 boxes. U has more toffees than Y but less 

toffees than Z. U has more toffees than W but less toffee 

than V. Y is not the box which has the lowest number of 

toffees. V doesn’t have odd number of toffees. The box 

which has 2nd highest number of toffees has 35 toffees. 

1. If the box X has 27 toffees, then what will be the 

possible number of toffees U have? 

A. 37 

B. 38 

C. 28 

D. 24 
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E. None of these 

2. If Box W has 5 toffees and Box U has 5 times 

toffees of Box W then what will be the possible toffees 

does Y have? 

A. 26 

B. 29 

C. 27 

D. 14 

E. None of these 

Directions (3-5): Study the following information 

carefully and answer the below questions 

Ramya bought five sweets with different weights. The 

weight of Jalebi is more than the weight of Jamun. 

Ramya bought 5kg of Mysore Pak which is the lowest 

weight among other sweets. Two sweets are weighed in 

between Halwa and Ladoo which is less weight than the 

Jalebi. She bought 25kg of Jalebi. 

3) How many sweets are more weights than Ladoo? 

a) 2 

b) 3 

c) 1 

d) 4 

e) None 

4) If the sum of the weights of Jamun and Mysore 

Pak is 25kg, then what is the sum of the weights of 

Jamun and Jalebi? 

a) 50kg 

b) 40kg 

c) 45kg 

d) 35kg 

e) None 

5) As many sweets weight is more than Halwa is same 

as less than____? 

a) Ladoo 

b) Mysore Pak 

c) Jalebi 

d) Jamun 

e) None of the above 

Direction (6-8): Study the following information 

carefully and answer the questions below.  

There are six persons M, N, O, P, Q and R of different 

weights.  

N is heavier than only R. Two persons are either lighter 

than Q or heavier than Q. P is heavier than M but not the 

heaviest one.  

6) If M is heavier than only two persons than what is 

the position of Q? 

a) 2nd heaviest person 

b) Heavier than M 

c) 3rd lighter person 

d) Lighter than M 

e) None of these 

7) Who among the following is heaviest? 

a) Q 
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b) M 

c) N 

d) P 

e) O 

8) If the weight of N is 45kg then what may be the 

weight of R? 

a) 60 Kg 

b) 48 Kg 

c) 56 Kg 

d) 90 Kg 

e) None of these 

Directions (9-10): Study the following information 

carefully and answer the below questions 

Five cots-Cot-1, Cot-2, Cot-3, Cot-4, and Cot-5 have 

different lengths. The length of cot-1 is more than the 

length of cot-5 which length is less than cot-4. The 

length of cot-2 is the least among all. The number of cots 

which length more than cot-1 is same as that of less than 

cot-3. The length of cot-3 is 140cm. 

9)How many cot’s lengths are more than cot-5? 

a) One 

b) Two 

c) Three 

d) Four 

e) None 

10)If the length of cot-1 is 190 cm then what may be a 

length of cot-5? 

a) 195 cm 

b) 120 cm 

c) 180 cm 

d) 200 cm 

e) 135 cm 

Directions (11-13): Study the following information 

carefully and answer the given questions: 

Six persons with different monthly salaries are arranged 

in descending order as per their earnings. Surya earns 

more than Kunwar but less than Anil, who does not earn 

the highest salary. Manoj earns less than Yogita but more 

than Lalit who doesn’t earn more than Kunwar. Surya 

earns more than Manoj. Manoj does not earn the 2nd 

lowest salary. The second highest and third-lowest 

salaried persons earn RS. 60000 and 40000 respectively. 

11. Who among the following person earns the 

highest salary? 

A. Yogita 

B. Manoj 

C. Lalit 

D. Anil 

E. None of these 

12. If the difference between the salaries of Lalit and 

Anil is Rs 30000, then what will be the sum of 

monthly salaries of Manoj and Lalit? 

A. 59000 

B. 70000 
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C. 57000 

D. 52000 

E. None of these 

13. Who among the following person earns just less 

than Anil? 

A. Kunwar 

B. Manoj 

C. Surya 

D. Lalit 

E. None of these 

Directions (14-16): Study the following information 

carefully and answer the below questions 

There are five brand steel rods- Jindal, Rathi, SAIL, 

Tata, and Kiscol with different diameters. The steel rods 

are arranged in descending order according to their 

diameter.The diameter of the Rathi is more than Kiscol. 

There are two steel rods between Kiscol and SAIL. The 

diameter of Tata steel rod is more than Jindal steel Rod 

which is more diameter than only SAIL. The Diameter of 

Jindal is 10mm and the diameter of Kiscol is 28mm. 

14)How many steel rods are more diameter than Tata 

steel rod? 

a) One 

b) Two 

c) Three 

d) Four 

e) None 

15) If the sum of the diameters of Kiscol and Rathi is 

60mm, then what is the diameter of Rathi? 

a) 36mm 

b) 34mm 

c) 32mm 

d) 30mm 

e) 28mm 

16)What may be a diameter of Tata steel rod? 

a) 20mm 

b) 8mm 

c) 32mm 

d) 30mm 

e) None of the above 

Directions (17-19): Study the following information 

carefully and answer the below questions 

There are five different racks- L, H, I, J and K having a 

different number of shelves. J has more shelves than I 

but less than K. I has more shelves than L. Two racks are 

in between J and H when the racks are arranged 

according to the increasing order of their shelves. L has 5 

shelves. J has 12 shelves.  

17)How many racks have more shelves than I? 

a) One 

b) Two 

c) Three 

d) Four 

e) None 
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18)If the sum of the shelves of the rack K and rack J 

is 27, then how many shelves does K has? 

a) 14 

b) 16 

c) 15 

d) 13 

e) 17 

19)How many shelves may H have? 

a) 4 

b) 6 

c) 7 

d) 8 

e) None of the above 

Directions (20-22): Study the following information 

carefully and answer the below questions 

There are five different laptops- Acer, HP, Sony, Lenovo 

and DELL. The laptops are arranged in descending order 

according to their price. Acer is costlier than DELL but 

cheaper than HP. Only two laptops are between Lenovo 

and Acer. Lenovo laptop is not a costliest laptop. The 

price of the Sony and HP laptops are 35000 and 50000 

respectively. Sony laptop is not costlier than DELL. 

20) If the sum of the price of the Sony and Lenovo is 

65000,Then what is the price of Lenovo? 

a) 25000 

b) 30000 

c) 20000 

d) 35000 

e) None of these 

21)How many laptops are costlier than Sony? 

a) One 

b) Two 

c) Three 

d) Four 

e) None 

22)If the cost of Hp is 5000 more than Acer, then 

what may be the cost of DELL? 

a) 45000 

b) 47000 

c) 40000 

d) 48000 

e) None of the above 

Directions (23-25): Study the following information 

carefully and answer the below questions. 

Six persons A, B, C, D, E and F are comparing their 

heights and all the persons are at different heights. More 

than two persons are taller than E. D is only shorter than 

B. Both A and F are shorter than C. Neither A nor F 

taller than E. A is not shortest among all. The height of 

the second tallest person is 168 cm and the fourth tallest 

person is 152 cm. 

23) What is the possible height of C? 

a) 169 cm 

b) 170 cm 
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c) 160 cm 

d) 150 cm 

e) 180 cm 

24) If the lowest height is 7 cm less than E’s height, 

then what is the height of F? 

a) 147 cm 

b) 145 cm 

c) 142 cm 

d) 143 cm 

e) Data inadequate 

25) What is the sum of heights of D and E? 

a) 319 cm 

b) 320 cm 

c) 321 cm 

d) 318 cm 

e) 315 cm 

Directions (26-27): Study the following information 

carefully and answer the below questions 

Six persons- B, D, L, M, S, and V have boxes with 

different weights. M has 13kg of the box, S has a box 

which weight is more than only two people. V has a box 

that has more weight than L but less than M. D has a box 

which weight is only less than B. D has a box which 

weight is thrice of V’s Box. 

26) How many persons have more weighted box than 

M? 

a) One 

b) Two 

c) Three 

d) Four 

e) None 

27) If the sum of the weight of boxes which has by M 

and D is 31, then what may be a weight of box which 

kept by B? 

a) 15 

b) 17 

c) 20 

d) 18 

e) 16 

Directions (28-30): Study the following information 

carefully and answer the below questions.  

 Six students-I, J, K, L, M and N are arranged 

from top to bottom based on their percentage in the 

annual exam.  

M gets more percentage than J. More than two students 

get less percentage than I. L gets more percentage than N 

who doesn’t get the lowest percentage. Only one student 

gets more percentage than K. Neither L nor I get the 

highest percentage. The second-highest and the second-

lowest percentages are 84% and 54% respectively. 

28) Who among the following person gets third-

highest percentage? 

a) K 

b) I 
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c) N 

d) M 

e) None of these 

29) If I gets 350 out of 500, then what is the possible 

percentage does L gets? 

(a) 48 

(b) 50 

(c) 66 

(d) 71 

(e) 80 

30) How many students get less percentage than M 

but more than N? 

(a) None 

(b) One 

(c) Two 

(d) Three 

(e) None of these 

Direction (31-33): Study the following information 

carefully and answer the question below.  

Seven persons I, J, K, L, M N, and O are scored different 

marks in an exam. K scores 65 marks which is more than 

only N. J scored less than M and O but more than I who 

scored less than 72 marks. L scored 85 marks which is 

less than the score of M. O doesn’t score the highest 

marks. J’s mark is equal to the average marks of L and 

K.  

31) If M scores 90 marks then what is the possible 

marks of O? 

a) 95 

b) 84 

c) 93 

d) 74 

e) 91 

32) How many persons scored more than J? 

a) Two 

b) Four 

c) Three 

d) Five 

e) None of these 

33) If the minimum score is 60 then what is the 

difference between J and N’s marks? 

a) 20 

b) 22 

c) 12 

d) 15 

e) 18 

Directions (34-35): Study the following information 

carefully and answer the below questions 

 A group of six friends P, Q, R, S, T and U are 

arranged by their weights in descending order from top 

to bottom. Only two persons are lighter than P. U is 

lighter than R and S. Q is lighter than U but heavier than 

T. S is not the heaviest person. The second heaviest and 
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the second lightest person weights are 88kg and 50kg 

respectively. 

34) What is the possible weight of P, if the sum of the 

weights of U and Q is 123kg? 

(a) 89 

(b) 48 

(c) 54 

(d) 73 

(e) Other than the given option 

35) What is the sum of the weights of P and Q, if the 

difference between the weights of P and S is 21kg? 

(a) 138kg 

(b) 117kg 

(c) 123kg 

(d) 109kg 

(e) Other than the given option 

Directions (36-38): Study the following information 

carefully and answer the below questions. 

Five players-Rohit, Raina, Dhoni, Kohli, and Dhawan 

are scored different runs in a one-day match. At least two 

persons have scored more runs than Dhawan. Dhoni 

scored more than Kohli. Only one person scored between 

Dhawan and Rohit who scored more than Dhawan. The 

number of persons scored more than Dhoni is one more 

than the number of persons scored less than Raina. Rohit 

scored 85 runs. Kohli scored 45 runs. 

36) How many people get more score than Kohli? 

a) One 

b) Two 

c) Three 

d) Four 

e) No one 

37) If the average scores Dhoni and Rohit are 80, then 

what are the average scores of Dhoni and Kohli? 

a) 70 

b) 65 

c) 60 

d) 75 

e) 50 

38) What may be a score of Raina? 

a) 55 

b) 50 

c) 60 

d) 40 

e) 48 

Directions (39-40): Study the following information 

carefully and answer the below questions 

Six students scored different marks in the exam. F scored 

more marks than G but less mark than B. Three persons 

are scored between F and O. only one person scored 

between G and T who scored less than 60. The score of 

M is 60. The score of F is 85. 

39)How many persons are scored more marks than 

T? 
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a) One 

b) Two 

c) Three 

d) Four 

e) None 

40)If the sum of the marks scored by F and T is 140, 

then what is the score of T? 

a) 50 

b) 54 

c) 55 

d) 57 

e) 60 

Directions (41-42): Study the following information 

carefully and answer the below questions 

There are five different weighted persons- I, W, Z, Q, 

and Y. There are two persons between Z and Q who is 

heavier than I. Z is more weight than W who is neither 

the lightest person nor the third lightest person. The 

heaviest and lightest person are 90kg and 40kg 

respectively.  

41) If the difference between the weight of Z and Y 

and that of between I and Y is the same then what is 

the weight of Y? 

a) 55Kg 

b) 65Kg 

c) 70Kg 

d) 85Kg 

e) None of these 

42)How many persons are more weight than Q? 

a) One 

b) Two 

c) Three 

d) Four 

e) None 

Direction (43-45): Study the following information 

carefully and answer the questions below:  

Five students A, B, C, D and E are writing the NEET 

exam and scored different marks. C scored more than A 

but less than E. E does not score the highest marks. Also, 

A scored the second lowest mark. The mark D scored is 

640 and the third lowest mark is 510. 

43. Which of the following statement is true? 

a) Marks of A is 530 

b) B scored the highest marks among all 

c) E’s mark is the second highest 

d) A scored the least mark 

e) All the statements are true 

44. If the mark of B is 20 less than the mark of C, 

then which of the following can be A’s mark? 

a) 498 

b) 512 

c) 487 

d) 470 

e) None of these 
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45. Who among the following person scored the 

lowest mark among all? 

a) A 

b) C 

c) D 

d) B 

e) E 

(Directions 46–48): Study the following information 

carefully and answer the questions given below it. 

Six persons namely A, B, C, D, E and G are having a 

different number of pens. No two persons have a similar 

number of pens. B has more number of pens than C. E 

has more number of pens than D and G. C does not have 

a minimum number of pens. B has more number of pens 

than E but less number of pens than A. C has less 

number of pens than G. G has 18 pens. 

46. Who among the following person has a minimum 

number of Pens? 

a) C 

b) G 

c) D 

d) E 

e) Cannot be determined 

47. How many numbers of pens may D have?   

a) 20 

b) 28 

c) 19 

d) 22 

e) 14 

48. Who among the following person has a maximum 

number of Pens? 

a) C 

b) A 

c) E 

d) B 

e) None of these 

Direction (49-50): Study the following information 

carefully and answer the questions below: 

In a library, there are six rows from Row 1 to Row 6 

contain books of different numder. Row 3 contains fewer 

books than only 2 rows. Row 1 contains more books than 

row 4 but less than Row 5. Row 4 contains more books 

than row 6. Row 5 contains fewer books than row 2. The 

row which contains the 3rd highest books contains 700 

books. 

49. If row 5 and row 3 contain 1450 books together 

and row1 and row 3 contain 1300 books together, 

then what is the sum of books that row 5 and row 1 

contain? 

a) 1300 

b) 1250 

c) 1200 

d) 1350 

e) 1150 
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50. How many row(s) have more books than row 4 

but less than row 2? 

a) Two 

b) One 

c) Three 

d) Four 

e) Five 

Order and Ranking - Answers with Explanation 

Direction (1-2): 

1) C 

2) D 

V > Z (35) > U > X > Y > W 

Direction (3-5): 

3)  B 

4) C 

5) B 

Halwa>Jalebi>Jamun>Ladoo>Mysore Pak 

Halwa>25kg>20kg>Ladoo>5kg 

Direction (6-8): 

6) B 

7) E 

8) E 

Solution: 

Weight Person 

6 O 

5 P 

4 M/Q 

3 Q/M 

2 N 

1 R 

Directions(9-10) 

9. B 

10.C 

Cot4>cot1>cot5>cot3>cot2 

Cot4>190>180>140>cot2 

Direction (11-13): 

11) A 

12) B 

13) C 

Yogita > Anil (60000) > Surya > Manoj (40000) 

>Kunwar>Lalit 

Directions (14-16) 

14) B 

15) C 

16) A 
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Rathi>Kiscol>Tata>Jindal>SAIL 

Rathi>28mm>Tata>10mm>SAIL 

Directions(17-19) 

17) B 

18) C 

19) A 

K>J>I>L>H 

K>12>I>5>H 

Directions(20-22) 

20) B 

21) C 

22) C 

HP>Acer>DELL>Sony>Lenovo 

50000>Acer>DELL>35000>Lenovo 

Directions (23-25): 

23) C 

24) B 

25) B 

Six persons A, B, C, D, E and F are comparing their 

heights and all the persons are at different heights. 

More than two persons are taller than E.  

D is only shorter than B.  

Both A and F are shorter than C.  

Neither A nor F taller than E.  

A is not shorter among all.  

The height of the second tallest person is 168 cm and the 

fourth tallest person is 152 cm. 

B > D (168 cm) > C > E (152 cm)> A > F 

Directions(26-27) 

26) B 

27) C 

B>D>M>S>V>L 

B>18>13>S>V>L 

Directions (28-30):  

28) B 

29) C 

30) D 
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Direction (31-33): 

31) B 

32) C 

33) D 

Solution: 

Higher Rank Person Score 

 1 M  

 2 L/O  

 3 O/L  

 4 J 75 

 5 I  

 6 K 65 

Lower 7 N  

Directions (34-35):  

34) C 

35) B 

 

Explanation: 

 Only two persons are lighter than P. 

 

 U is lighter than R and S. Q is lighter than U but 

heavier than T. S is not the heaviest person. 
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  The second heaviest and the second 

lightest person weights are 88kg and 50kg respectively. 

 

Directions (36-38) 

36) C 

37) C 

38) D 

At least two persons have scored more runs than 

Dhawan. 

__>__>Dhawan>__>__ 

__>__>__ >Dhawan >__ 

__>__>__ >__>Dhawan 

Dhoni scored more than Kohli. 

Dhoni> Kohli 

Only one person scored between Dhawan and Rohit who 

scored more than Dhawan. 

Rohit>___Dhawan 

Rohit>__>Dhawan>__>__ 

__>Rohit>__ >Dhawan >__ 

__>__>Rohit >__>Dhawan 

The number of persons scored more than Dhoni is one 

more than the number of persons scored less than Raina 

Rohit>Dhoni>Dhawan>Kohli>Raina 

85>Dhoni>Dhawan>45>Raina 

Directions (39-40): 

39) D 

40) C 

B>F>G>M>T>O 

B>85>G>60>T>O 

Directions (41-42) 
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41) B 

42) C 

Z>W>Y>Q>I 

90>W>65>Q>40 

Directions (43-45): 

43) C 

44) A  

45) D  

Based on the given information we have the final 

arrangement as follows: 

D(640)>E>C(510)>A>B 

(Directions46–48): 

46) C 

47) E 

48) B 

 

A – maximum no. of pen 

B 

E 

G – 18  

C 

D – minimum no. of pen 

Direction (49-50): 

49) D 

 

50) C 

Based on the given information, we have the final 

arrangement as follows: 

Row 2>Row 5>Row 3(700 books)>Row 1>Row 4>Row 

6 
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